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 Derivadas por formula. 

𝑑 (
𝑐𝑥

𝑑𝑥
) = 𝑐 

Ejemplo: 
𝑓(𝑥) = 2𝑥                   Derivada    𝑓(𝑥) = 2    
 
𝑓(𝑥) = 5𝑥                   Derivada    𝑓(𝑥) = 5                          
 
𝑓(𝑥) = 𝑥                     Derivada    𝑓(𝑥) = 1     
 
Ejercicios: 
 
𝑓(𝑥) = 7𝑥                   Derivada    𝑓(𝑥) =    
 
𝑓(𝑥) = −9𝑥                Derivada    𝑓(𝑥) =                          
 
𝑓(𝑥) = 6𝑥                   Derivada    𝑓(𝑥) =     
 
𝑓(𝑥) = 𝑎𝑥                   Derivada    𝑓(𝑥) =    
 
𝑓(𝑥) = 𝑏𝑥                Derivada    𝑓(𝑥) =                          
 
𝑓(𝑥) = 𝑧𝑥                   Derivada    𝑓(𝑥) =     
 

𝑓(𝑥) =
7

3
𝑥                   Derivada    𝑓(𝑥) =    

 

𝑓(𝑥) = −
9

𝑎
𝑥                Derivada    𝑓(𝑥) =                          

 
𝑓(𝑥) = −5.6𝑥              Derivada    𝑓(𝑥) =     
 
𝑓(𝑥) = 𝑏2𝑥                Derivada    𝑓(𝑥) =                          
 
𝑓(𝑥) = 𝑎𝑧𝑥                   Derivada    𝑓(𝑥) =     
 

𝑓(𝑥) =
11

3
𝑥                   Derivada    𝑓(𝑥) =    

 

𝑓(𝑥) = −
𝑛

𝑎
𝑥                Derivada    𝑓(𝑥) =                          

 
𝑓(𝑥) = −2.4𝑥              Derivada    𝑓(𝑥) =     

 

𝑑 (
𝑥𝑛

𝑑𝑥
) = 𝑛𝑥𝑛−1 

Ejemplos 
𝑓(𝑥) = 𝑥6      𝑓′(𝑥) = 6𝑥6−1             𝑓′(𝑥) = 6𝑥5 
 
          

𝑓(𝑥) = 𝑥
3

5        𝑓′(𝑥) =
3

5
𝑥

3

5
−1                𝑓′(𝑥) =

3

5
𝑥

2

5     

 
     Ejercicios: 
 
𝑓(𝑥) = 𝑥4             𝑓′(𝑥) =               𝑓′(𝑥) = 
 
𝑓(𝑥) = 𝑥10             𝑓′(𝑥) =               𝑓′(𝑥) = 
 
𝑓(𝑥) = 𝑥6             𝑓′(𝑥) =               𝑓′(𝑥) = 
 
𝑓(𝑥) = 𝑥7             𝑓′(𝑥) =               𝑓′(𝑥) = 
 
𝑓(𝑥) = 𝑥−4             𝑓′(𝑥) =               𝑓′(𝑥) = 
 
𝑓(𝑥) = 𝑥14             𝑓′(𝑥) =               𝑓′(𝑥) = 
 
𝑓(𝑥) = 𝑥9             𝑓′(𝑥) =               𝑓′(𝑥) = 
 

𝑓(𝑥) = 𝑥
4

3             𝑓′(𝑥) =               𝑓′(𝑥) = 
 

𝑓(𝑥) = 𝑥
9

7             𝑓′(𝑥) =               𝑓′(𝑥) = 
 

𝑓(𝑥) = 𝑥
11

4              𝑓′(𝑥) =               𝑓′(𝑥) = 
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𝑑 (
𝐶

𝑑𝑥
) = 0 

                    
𝑓(𝑡) = 𝑥6                                              𝑓′(𝑡) = 0  
 

𝑓(𝑧) = 𝑥
3

5                                                          𝑓′(𝑧) = 0 
 
Ejercicios: 
 
𝑓(𝑎) = 𝑥6                                              𝑓′(𝑎) =  
 
𝑓(𝑡) = 𝑎6                                              𝑓′(𝑡) =  
 
𝑓(𝑚) = 𝑧6                                              𝑓′(𝑚) =  
 
𝑓(𝑛) = 𝑚6                                              𝑓′(     ) =  
 
𝑓(𝑡) = 𝑢6                                               𝑓′(     ) =  
 
𝑓(𝑡) = 𝑧6                                              𝑓′(        ) =  
 

𝑑 (
𝑐𝑣

𝑑𝑥
) = 𝑐𝑑 (

𝑣

𝑑𝑥
) 

Ejemplo: 

𝑓(𝑥) = 5𝑥6            
𝑑

𝑑𝑥
(5𝑥6) = 5𝑑 (

𝑥6

𝑑𝑥
)  𝑓′(𝑥) = 5(6𝑥5) = 30𝑥5 

𝑓(𝑥) = 3𝑥10                 𝑑(3𝑥10) = 3𝑑 (
𝑥10

𝑑𝑥
)  𝑓′(𝑥) = 3(10𝑥9) = 30𝑥9 

𝑓(𝑧) = 7𝑧6                    𝑑(7𝑧6) = 7𝑑 (
𝑧6

𝑑𝑧
)    𝑓′(𝑧) = 7(6𝑧9) = 42𝑧9 

 
Ejercicios: 
 

𝑓(𝑡) = −12𝑡2             𝑑(−12𝑡2) =     𝑑 (
          

𝑑𝑡
)    𝑓′(𝑡) =  (          ) =  

 

𝑓(𝑥) = 2𝑥2                   𝑑(2𝑥2) =     𝑑 (
          

𝑑𝑡
)    𝑓′(𝑡) =  (          ) =  

 

𝑓(𝑥) = 3𝑥5                   𝑑(3𝑥5) =     𝑑 (
          

𝑑𝑡
)    𝑓′(𝑡) =  (          ) =  

 

𝑓(𝑥) = 7𝑥6                   𝑑(7𝑥6) =     𝑑 (
          

𝑑𝑡
)    𝑓′(𝑡) =  (          ) =  

 

𝑓(𝑥) = 8𝑥6                   𝑑(8𝑥6) =     𝑑 (
          

𝑑𝑡
)    𝑓′(𝑡) =  (          ) =  

 

𝑓(𝑥) = 9𝑥7                   𝑑(9𝑥7) =     𝑑 (
          

𝑑𝑡
)    𝑓′(𝑡) =  (          ) =  

 

𝑓(𝑥) = 3𝑥11                   𝑑(3𝑥11) =     𝑑 (
          

𝑑𝑡
)    𝑓′(𝑡) =  (          ) =  

 

𝑓(𝑥) = −6𝑥6                   𝑑(−6𝑥6) =     𝑑 (
          

𝑑𝑡
)    𝑓′(𝑡) =  (          ) =  

 

𝑓(𝑥) =
7

4
𝑥6                   𝑑 (

7

4
𝑥6) =

7

4
    𝑑 (

   𝑥6       

𝑑𝑡
)    𝑓′(𝑡) =

7

4
 ( 6 𝑥5 ) = 

42

4
𝑥5 =  

21

2
𝑥5 

 

𝑓(𝑥) =
3

8
𝑥3                   𝑑(         ) =     𝑑 (

          

𝑑𝑡
)    𝑓′(𝑡) =  (          ) =  

 

𝑓(𝑥) =
5

7
𝑥8                   𝑑(         ) =     𝑑 (

          

𝑑𝑡
)    𝑓′(𝑡) =  (          ) =  

 

𝑓(𝑥) = 5𝑥10                   𝑑(        ) =     𝑑 (
          

𝑑𝑡
)    𝑓′(𝑡) =  (          ) =  

 

𝑓(𝑥) = 2𝑥10                    𝑑(        ) =     𝑑 (
          

𝑑𝑡
)    𝑓′(𝑡) =  (          ) =  

 

𝑓(𝑥) = 5𝑥12                    𝑑(        ) =     𝑑 (
          

𝑑𝑡
)    𝑓′(𝑡) =  (          ) =  

 
 

𝑓(𝑥) = 9𝑥7                    𝑑(        ) =     𝑑 (
          

𝑑𝑡
)    𝑓′(𝑡) =  (          ) =  

 
 

𝑓(𝑥) = 21𝑥4                   𝑑(        ) =     𝑑 (
          

𝑑𝑡
)    𝑓′(𝑡) =  (          ) =  

 

𝑓(𝑥) = 11𝑥3                   𝑑(        ) =     𝑑 (
          

𝑑𝑡
)    𝑓′(𝑡) =  (          ) =  

 

𝑓(𝑥) = 8𝑥7                    𝑑(        ) =     𝑑 (
          

𝑑𝑡
)    𝑓′(𝑡) =  (          ) =  
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𝑑 (
𝑣 + 𝑢 − 𝑤

𝑑𝑥
) = (

𝑣

𝑑𝑥
) + (

𝑢

𝑑𝑥
) − (

𝑤

𝑑𝑥
) 

Ejemplos: 

𝑓(𝑥) = 2𝑥 + 𝑥6 − 𝑥
3

5 + m    

𝑓′(𝑥) = 𝑥 + 6𝑥5 −
3

5
 𝑥−

2

5  

           

𝑓(𝑥) = 7𝑥 + 𝑥−12 − 𝑥
4

5 +a+b  

𝑓(𝑥) = 7 − 12𝑥−13 − 
4

5
𝑥−

1

5  

 
Ejercicios: 

𝑓(𝑥) = 4𝑥 + 𝑥7 − 𝑥
3

5 + m  
𝑓′(𝑥) =   
 

𝑓(𝑥) = 6𝑥 + 𝑥9 − 𝑥
1

5 + a  
𝑓′(𝑥) =   
 

𝑓(𝑥) = −6𝑥 + 𝑥10 − 𝑥
1

3 + t  
𝑓′(𝑥) =   
 
  

𝑓(𝑥) = 𝑎𝑥 + 𝑥7 − 𝑥
1

8 + 3t 
𝑓′(𝑥) =   
 

𝑓(𝑡) = 𝑏𝑡 + 𝑡5 − 𝑡
1

8 + 3t 
𝑓′(𝑡) =   
                                                   

                                              𝑑 (
√𝑣

𝑑𝑥
) =

𝑑(𝑣)

𝑑𝑥

2√𝑣
 

Ejemplos: 

𝑓(𝑥) = √5𝑥3 + 6𝑥 + 5                   𝑓′(𝑥) =
15𝑥2+6

2√5𝑥3+6𝑥+5
 

 

𝑓(𝑥) = √7𝑥5 + 𝑎𝑥 + 𝑚                      𝑓′(𝑥) =
35𝑥4 + 𝑎

2√7𝑥5 + 𝑎𝑥 + 𝑚
                       

 

 

            𝑓(𝑥) = √3𝑥3 + 2𝑥 + 3                   𝑓′(𝑥) =
9𝑥2+2

2√3𝑥3+2𝑥+3
 

 
Ejercicios: 
 

            𝑓(𝑥) = √6𝑥4 + 5𝑥 + 3                          𝑓′(𝑥) =
                            

√                           
 

            𝑓(𝑥) = √8𝑥6 + 6𝑥 + 3                          𝑓′(𝑥) =
                            

√                           
 

            𝑓(𝑥) = √10𝑥10 + 10𝑥 + 3                   𝑓′(𝑥) =
                            

√                           
 

            𝑓(𝑥) = √8𝑥11 + 8𝑥 + 3                        𝑓′(𝑥) =
                            

√                           
 

            𝑓(𝑥) = √10𝑥3 + 2𝑥 + 3                        𝑓′(𝑥) =
                            

√                           
 

            𝑓(𝑥) = √15𝑥3 + 2𝑥 + 3                        𝑓′(𝑥) =
                            

√                           
 

 
 
 
 

                                              𝑑 (
𝑣𝑛

𝑑𝑥
) = 𝑛𝑣𝑛−1𝑑 (

𝑣

𝑑𝑥
) 

Ejemplo: 
   𝑓(𝑥) = (3𝑥3 + 2𝑥 + 3)4  

  
𝑑

𝑑𝑥
((3𝑥3 + 2𝑥 + 3)4) = 4(3𝑥3 + 2𝑥 + 3)3 𝑑

𝑑𝑥
(3𝑥3 + 2𝑥 + 3)   

 
 𝑓′(𝑥) = 4(3𝑥3 + 2𝑥 + 3)3(9𝑥2 + 2) = 4(9𝑥2 + 2)(3𝑥3 + 2𝑥 + 3)3  
 
𝑓′(𝑥) = 36𝑥2 + 8(3𝑥3 + 2𝑥 + 3)3  
 

 
𝑓(𝑡) = (6𝑡3 + 5𝑡 + 𝑎)3 

  
𝑑

𝑑𝑡
((6𝑡3 + 5𝑡 + 𝑎)3) = 3𝑑(6𝑡3 + 5𝑡 + 𝑎)2 𝑑

𝑑𝑡
(6𝑡3 + 5𝑡 + 𝑎)   

= 3(6𝑡3 + 5𝑡 + 𝑎)2(12𝑡2 + 5) = 3(12𝑡2 + 5)(6𝑡3 + 5𝑡 + 𝑎)2    

= 36𝑡2 + 15(6𝑡3 + 5𝑡 + 𝑎)2     
  
 
𝑓(𝑡) = (3𝑡3 + 10𝑡 + 𝑎)3 

  
𝑑

𝑑𝑡
((                         ) ) =    𝑑(                      )

𝑑

𝑑𝑡
(                            )   

=  (                           ) (                   ) =    (                  )(                        )     

=                   (                         )      
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Derivadas trigonométricas. 
𝑑(𝑺𝒆𝒏 𝑈)

𝑑𝑥
=

𝑑𝑈

𝑑𝑥
𝑪𝒐𝒔𝑈  

Ejemplo: 
 

𝑑(𝐒𝐞𝐧𝟐𝒙𝟓)

𝑑𝑥
=

𝑑(𝟐𝒙𝟓)

𝑑𝑥
𝐂𝐨𝐬𝟐𝒙𝟓 

 
 
 

𝑓(𝑥) =   𝐒𝐞𝐧𝟐𝒙𝟓                    𝑓′(𝑥) = 𝟏𝟎𝒙𝟒𝐂𝐨𝐬𝟐𝒙𝟓 

       

Ejercicios: 

 

    𝑓(𝑥) =   𝐒𝐞𝐧𝟕𝒙𝟓                    𝑓′(𝑥) =             𝐂𝐨𝐬 

 

    𝑓(𝑥) =   𝐒𝐞𝐧𝟑𝒙𝟖                    𝑓′(𝑥) =             𝐂𝐨𝐬 

 

                 𝑓(𝑥) =   𝐒𝐞𝐧𝟔𝒙𝟒                    𝑓′(𝑥) =             𝐂𝐨𝐬 

 

    𝑓(𝑥) =   𝐒𝐞𝐧𝟕𝒙𝟓                    𝑓′(𝑥) =             𝐂𝐨𝐬 

 
 

𝑑(𝑪𝒐𝒔 𝑈)

𝑑𝑥
= −

𝑑𝑈

𝑑𝑥
𝑺𝒆𝒏𝑈  

Ejemplo: 
 

𝑑(𝐂𝐨𝐬𝟐𝒙𝟓)

𝑑𝑥
= −

𝑑(𝟐𝒙𝟓)

𝑑𝑥
𝐒𝐞𝐧𝟐𝒙𝟓 

    𝑓(𝑥) =   𝐂𝐨𝐬𝟕𝒙𝟓                    𝑓′(𝑥) = −𝟑𝟓𝒙𝟒  𝐒𝐞𝐧𝟕𝒙𝟓 

Ejercicios:  

 

    𝑓(𝑥) =   𝐂𝐨𝐬𝟑𝒙𝟖                    𝑓′(𝑥) =             𝐒𝐞𝐧 

 

                 𝑓(𝑥) =   𝐂𝐨𝐬𝟔𝒙𝟒                    𝑓′(𝑥) =             𝐒𝐞𝐧 

 

    𝑓(𝑥) =   𝐂𝐨𝐬𝟕𝒙𝟓                    𝑓′(𝑥) =             𝐒𝐞𝐧 

 

 

 

𝑑(𝒕𝒈 𝑈)

𝑑𝑥
=

𝑑𝑈

𝑑𝑥
𝑺𝒆𝒄𝟐𝑈  

Ejemplo: 
 

𝑑(𝐭𝐠𝟐𝒙𝟓)

𝑑𝑥
=

𝑑(𝟐𝒙𝟓)

𝑑𝑥
𝑺𝒆𝒄𝟐𝟐𝒙𝟓 

 
𝑓(𝑥) =   𝐭𝐠𝟐𝒙𝟓                    𝑓′(𝑥) = 𝟏𝟎𝒙𝟒𝑺𝒆𝒄𝟐𝟐𝒙𝟓 

       

Ejercicios: 

 

    𝑓(𝑥) =   𝐭𝐠𝟕𝒙𝟓                    𝑓′(𝑥) =             𝑺𝒆𝒄𝟐 

 

    𝑓(𝑥) =   𝐭𝐠𝟑𝒙𝟖                    𝑓′(𝑥) =             𝑺𝒆𝒄𝟐 

 

                 𝑓(𝑥) =   𝐭𝐠𝟔𝒙𝟒                    𝑓′(𝑥) =             𝑺𝒆𝒄𝟐 

 

    𝑓(𝑥) =   𝐭𝐠𝟕𝒙𝟓                    𝑓′(𝑥) =             𝑺𝒆𝒄𝟐 

 
 

 

 

 


